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d—F-LyF-EIDE

L7/ 138
g $2 K 4 ouT | IN |[TOTAL|HDCP| NET
& B B =85 44 | 38 | 82 | 20 62
B rE F— 37 | 46 | 83 | 19 64
3 fu *H K& 43 | 40 | 83 | 16 67
4 i A BE 43 | 45 | 88 | 21 67
5 fi FIEF —aR 43 | 45 | 88 17 71
B-G Bl =F8 44 | 38 | 82

8H XLHEAGIHF B Bk H =X

OB fMHEAHIE A K K # =
J—)IEF-LyF-EIDE
g $f K 4 ouT IN [TOTAL|HDCP | NET
& B ER fH— 38 | 36 74 8 66
B i & 38 | 35 73 6 67
3 fu HE EF 37 | 39 76 7 69
4 i A E£E 39 36 75 5 70
5 fi T A 36 43 79 8 71
B-G i & 38 35 73
S8H fMHEAHIE A K K # =
II—-KITL FDED
g $f K 4 ouT IN [TOTAL|HDCP | NET
& B 1Ty 39 | 39 78 12 66
#EB Bl 155 40 | 40 | 80 13 67
3 i EE #= 40 | 39 | 79 10 69
4 {u 7))l sE—ER 39 40 79 10 69
5 fi EH IEa 40 35 75 5 70
B-G EH IEa 40 35 75
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g $f K 4 ouT | IN |[TOTAL|HDCP| NET
& B BEE®EX 40 | 43 | 83 | 17 66
B =k BE 46 | 45 | of 24 67
3 fu BR —& 45 | 42 | 87 18 69
4 i LA A& 52 | 46 | 98 | 29 69
5 fi EFH = 44 | 49 | 93 | 23 70
B-G BEEt®EX 40 | 43 | 83
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